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सामान्य निरे्दश: 

1. इस प्रश्न पत्र में 34 प्रश्न हैं। 

2. प्रते्यक प्रश्न के सामिे अंक नर्दए गए हैं। 

3. उत्तर संनिप्त और सटीक होिे चानहए। 

4. 3 अंक वाले प्रश्नो ंके उत्तर लगभग 50 से 75 शब्ो ंमें लिखें। 

5. 4 अंक वाले प्रश्नो ंके उत्तर लगभग 150 शब्ो ंमें लिखें। 

6. 6 अंको ंवाले प्रश्नो ंके उत्तर लगभग 200 शब्ो ंमें लिखें। 

7. प्रश्नो ंके सभी भागो ंको एक साथ हल करें। 

8. प्रश्न 23,24,29,30,33,34 में आंतररक नवकल्प उपलब्ध है। 

 

General Instructions: 

1. This question paper contains 34 questions. 

2. Marks are indicated against each question. 

3. Answers should be brief and to the point. 

4. Answers to the questions carrying 3 marks may be from 50 to 75 words. 

5. Answers to the questions carrying 4 marks may be about 150 words. 

6. Answers to the questions carrying 6 marks may be about 200 words. 

7. Attempt all parts of the questions together. 

8. An internal choice is available in Que 23,24,29,30,3 

 

 



 

iz0&1 foHkkxk/;{k izca/kd ds fdl Lrj ij dk;Z djrk gS\      ¼1½ 

 d½ mPp Lrj   [k½ e/; Lrj 

 x½ fuEu Lrj   ?k½ mijksDr esa ls dksbZ ugha 

 At which level of Management Departmental Head Works? 

 a) Top level   b) Middle level 

 c) Lower Level    d) None of the above  

iz0&2 oSKkfud izca/k -------------------- ifjorZu ykrk gSA       ¼1½ 

 Scientific Management brings ________ change in the organization.  

iz0&3 foeqnzhdj.k us yksxksa dks vkSipkfjd vFkZO;oLFkk dh vksj ys tkus esa lgk;rk ugha dh gSA ¼lR;@vlR;½ ¼1½ 

 Demonstration doesn’t help to take people towards formal economy (True/False)    

iz0&4 fu;kstu ls Hkkoh ------------- esa deh vkrh gSA        ¼1½  

 Planning decreases future _____________ 

iz0&5 ^^_.kksa dh ,d eghus rd olwyh u gksus ij ,d fuf”pr nj ls C;kt yxsxkA** ;g dFku fu;kstu ds fdl 

 rRo dh vksj b”kkjk djrk gS\        ¼1½  

 d& ctV  [k& fu;e  x& uhfr  ?k& dk;Zfof/k 

 “Interest on loan will be charged at fixed rate if loan is not recovered within a 

 month”. This statement is related to which element of Planning.   

 a) Budget b) Rules  c) Policy  d) Method  

iz0&6 ^^bldk vfHkizk; fdlh fo”ks’k dk;Z dks iwjk djus ds fy, izca/k }kjk rS;kj fd, x, laxBu <kaps ls gSaA** 

 mijksDr dFku esa of.kZr laxBu ds izdkj dk uke crkb,A      ¼1½ 

 “This organizational structure is created by the management to accomplish a particular 

task.” Name the type of organization described in the above statement.  

iz0&7 mRiknksa ds vk/kkj ij laxBu ds <kaps dks foHkkftr djus dks D;k dgrs gSa\    ¼1½  

 d& fMfotuy <kapk  [k& dk;kZRed <kapk  

x& mijksDr nksuksa   ?k& mijksDr esa ls dksbZ ugha  

 Organization structure divided on the basis of products is called 

 a) Divisional Structure   b) Functional Structure  

 c) Both    d) None of these  

iz0&8 fuEu esa ls fdldk mn~ns”; ;g ns[kuk gksrk gS fd izkFkhZ “kkjhfjd rFkk ekufld #i ls in ds ;ksX; gS ;k 

 ugha\           ¼1½ 

 d& jkstxkj lk{kkRdkj   [k& izkFkfed lk{kkRdkj 

 x& mijksDr nksuksa    ?k& mijksDr esa ls dksbZ ugha  



The purpose of which of the following is to see that the applicant is physically and mentally 

eligible for the post or not?  

 a) Employment Interview b) Primary Interview  

 c) Both    d) None of the above 

iz0&9 f”k{k.k&izf”k{k.k laLFkkvksa ls lh/kh HkrhZ dks ------------ dgk tkrk gSA     ¼1½ 

 Direct recruitment from Educational and Training Institution is called___ 

iz0&10 fuEufyf[kr esa ls dkSu lk forh; izksRlkgu dk mnkgj.k ugha gSA     ¼1½ 

 d& vuqykHk   [k& ukSdjh lè) 

 x& ykHk lka>k djuk  ?k& lg&lka>snkjh 

Which of the following is not an example of a financial incentive? 

 a) Perquisites   b) Job Enrichment  

 c) Profit Sharing  d) Co-Partnership 

iz0&11 vfHkdFku (A): iSlk dsoy fupys Lrj dh t#jrksa dks iwjk djrk gSA     ¼1½  

dkj.k (R) % pwafd iSls esa Ø; “kfDr gksrh gS blfy, og izR;sd O;fDr ds fy, ,d cgqr egRoiw.kZ izksRlkgu cu 

tkrk gSA  

 lgh fodYi pqus& 

 d& vfHkdFku (A) xyr gS ij dkj.k (R) lgh gSA 

 [k& vfHkdFku (A) lgh gS ij dkj.k (R) xyr gSA 

 x& vfHkdFku (A) vkSj dkj.k (R) nksuksa lgh gSA  

 ?k& vfHkdFku (A) vkSj dkj.k (R) nksuksa xyr gSA  

 Assertion (A): Money only satisfies the lower level needs  

Reason (R): As money has the purchasing power, it becomes a very important incentive 

for every individual.  

Choose the correct option: 

a) Assertion (A) is false but Reason (R) is true. 

b) Assertion (A) is true but Reason (R) is false.  

c) Assertion (A) and Reason (R) both are true. 

d) Assertion (A) and Reason (R) both are false. 

iz0&12 fu;a=.k izca/ku dh ;g vo/kkj.kk bl fo”okl ij vk/kkfjr gS fd ;fn vki gj pht dks fu;af=r djus dk iz;kl 

 djrs gSa rks vki dqN Hkh fu;af=r ugha dj ik,axsA      ¼1½ 

 d& egRoiw.kZ fcanq fu;a=.k  [k& eq[; ifj.kke {ks= 

 x& viokn }kjk izca/ku  ?k& fopyu 

The concept of control management is based on the belief that if you try to control 

everything you may end up controlling nothing.  



 a) Critical Point Control  b) Key Result Areas 

 c) Management by Exception d) Deviations  

iz0&13 fu;a=.k izca/k dk egRoiw.kZ igyw gSA lR;@vlR;      ¼1½ 

 Controlling is essential aspect of Management (True/False) 

iz0&14 foRrh; mRrksyu dc vuqdwy gksrk gS\        ¼1½ 

 When financial Leverage is suitable? 

iz0&15 vfHkdFku (A): ^lerk ij O;kikj* lerk va”k/kkfj;ksa ds ykHk esa of̀) djrk gSA    ¼1½  

dkj.k (R): _.k dh ykxr lerk dh ykxr ls de gS vkSj _.k ij C;kt dk Hkqxrku ,d dVkSrh ;ksX; O;; 

gSA 

lgh fodYi pqus& 

d& vfHkdFku (A) vkSj dkj.k (R) lgh gS vkSj dkj.k (R) vfHkdFku (A) dk lgh Li’Vhdj.k gSA  

[k& dsoy vfHkdFku (A) lgh gSA 

x& dsoy dkj.k (R) lgh gSA 

?k& vfHkdj.k (A) vkSj dkj.k (R) nksuksa lgh ugha gSA 

 Assertion (A): Trading of an Equity raises the return of equity shareholders.  

 Reason (R): Cost of Debt is lower than the cost of equity and interest paid on debt is a 

 deductible expense.  

 A) Both Assertion (A) and Reason (R) are true and Reason (R) is correct 

 explanation of Assertion (A) 

 B) Only Assertion (A) is true. 

 C) Only Reason (R) is true. 

 D) Assertion (A) and Reason (R) both are incorrect.  

iz0&16 -------------- miHkksDrk ds eu esa ,d fo”ks’k Nfo cukrk gSaA      ¼1½ 

 d& czkafMax   [k& O;fDrxr fcØh 

 x& xzsfMax   ?k& mRikn fu;kstu 

 _______ creates a particular image in the minds of consumer. 

 a) Branding  b) Personal Selling 

 c) Grading  d) Product Planning 

iz0&17 dkSu lh foi.ku vo/kkj.kk miHkksDrk ds LFkku ij miHkksDrk dY;k.k ij cy nsrh gS\   ¼1½ 

 Which marketing concept emphasizes on consumer welfare rather than consumer? 

iz0&18 df̀’k dh xq.kork dks izekf.kr djus ds fy, fdl ;ksX;rk izekihdj.k fpUg dk mi;ksx fd;k tkrk gSA ¼1½  

 d& ,xekdZ   [k& BIS ekdZ  

 x& ISI ekdZ   ?k& dksbZ ugha 

 Which qualification certification mark is used to certify that quality of agriculture? 



 a) Agmark  b) BIS mark 

 c) ISI mark  d) None of the above  

iz0&19 jk’Vªh; Lrj ij miHkksDrk vnkyr ------------ dgykrh gSA      ¼1½ 

 Consumer court at national level is called___________  

iz0&20 lwpuk dk vf/kdkj lq>ko nsrk gS fd ,d miHkksDrk dks [krjukd oLrqvksa vkSj lsokvksa ds f[kykQ fojks/k djuk 

 pkfg,A ¼lR;@vlR;½         ¼1½ 

Right to Information suggests that a consumer should protest against dangerous goods and 

services (True/False) 

iz0&21 O;olkf;d laxBu ij vkfFkZd okrkoj.k ds ifjorZu ls gksus okys izHkko ds dksbZ rhu mnkgj.k  nhft,A  ¼3½ 

 Give any 3 examples of the impact of the Business organizations due to changes in 

 economic environment?   

Or 

oS|kfud okrkoj.k ds O;olk; ij dksbZ 3 izHkko crk,A      ¼3½ 

 Explain any 3 impacts of legal environment on Business  

iz0&22 foi.ku ls D;k vk”k; gS\ foi.ku dh fdUgha 2 fo”ks’krkvksa dk o.kZu djsaA  

 What is meant by Marketing? Explain any 2 features of it.  

Or 

vkS|ksfxd mRikn dk vFkZ vkSj mldh 2 fo”ks’krkvksa dk o.kZu djsaA  

 Describe the meaning and any 2 features of Industrial Product.  

iz0&23 iwath cktkj dh fLFkfr iwath <kaps fu.kZ; esa fdl izdkj egRoiw.kZ gS\    ¼3½ 

 How capital market conditions are important in the capital structure decision? 

iz0&24 forh; fu.kZ; dks izHkkfor djus okys fdUgha 3 dkjdksa dk o.kZu djsaA    ¼3½ 

 Explain any 3 factors affecting Financing Decision.  

iz0&25 izca/k ds fl)kar ^mrjnkf;Ro o vf/kdkj* vkSj ^vuq”kklu* dk o.kZu dhft,A    ¼4½ 

 Explain ‘Authority and Responsibility’ and ‘Discipline’ as Principles of  Management  

OR 

oSKkfud izca/k ds fuEufyf[kr fl)karksa dk o.kZu djksA       ¼4½ 

d& lg;ksx] u fd O;fDrokn  

[k& eS=h] u fd erHksn 

 Explain the following Principles of Scientific Management  

A) Cooperation, not Individualism  

B) Harmony, not Discord  

 

iz0&26 vf/kdkj varj.k vkSj fodsUnzhdj.k esa fuEufyf[kr ds vk/kkj ij varj crkb,A    ¼4½ 



 d& dk;Zokgh dh LorU=rk   [k& mn~ns”; 

 x& izdf̀r     ?k& {ks= 

Differentiate between Delegation of Authority and Decentralization on the basis of 

following  

 a) Freedom in Action   b) Purpose  

 c) Nature     d) Scope 

Or 

vf/kdkj varj.k dh ifjHkk’kk nhft,A        ¼4½ 

vf/kdkj varj.k ds rRoksa dk o.kZu dhft,A  

 Define Delegation. Explain the elements of Delegation of Authority.  

iz0&27 deZPkkjh p;u izfØ;k esa lfEefyr fdUgha 4 pj.kksa dk o.kZu djsaA      ¼4½ 

 Explain in brief, any 4 steps involved in the process of selection of  employees.  

iz0&28 fu;a=.k] fdl izdkj csgrj leUo; LFkkfir djus esa vkSj csgrj fu;kstu esa lgk;d gksrk gS\ le>kb;sA ¼4½ 

 Explain, how controlling helps in achieving better coordination and better  planning 

iz0&29 forh; fu;kstu ds egRo ij fdUgha 4 fcUnqvksa dk o.kZu djsaA      ¼4½ 

 Explain any 4 points of Importance of Financial Planning.    

iz0&30 miHkksDrk laj{k.k D;k gS\ miHkksDrk laj{k.k vf/kfu;e ds fdUgha 3 eq[; fo”ks’krkvksa dk o.kZu djksA  ¼4½ 

 What is Consumer Protection? Explain any 3 salient features of Consumer 

 Protection Act.  

iz0&31 ^^izca/k ,d dyk gSA** le>kb,A        (6)  

 “Management is an Art”. Explain 

vFkok 

izca/k ds fdUgha rhu laxBukRed mn~ns”;ksa rFkk fdUgha 3 lkekftd mn~ns”;ksa dk o.kZu djsaA   ¼6½  

 Explain any 3 organizational objectives and any 3 social objective of management.  

iz0&32 fu;kstu D;k gS\ fdUgha 4 fcanqvksa dk laf{kIr o.kZu dhft, tks fu;kstu ds egRo ij izdk”k Mkyrs gSaA  ¼6½ 

What is Planning? Explain briefly any 4 points which highlight the importance of Planning.  

Or 

fu;kstu ls vkidk D;k vfHkizk; gSA fu;kstu dh fdUgha 4 lhekvksa dk o.kZu djsaA   ¼6½ 

 What do you mean by Planning? Explain any 4 limitations of planning.  

iz0&33 funsZ”ku dk vFkZ vkSj dksbZ 4 fo”ks’krk,¡ crk,A       ¼6½ 

 Explain the meaning and any 4 features of Directing. 

iz0&34 iSdsftax dk D;k vFkZ gS\ iSdsftax ds fdUgha 4 dk;ksZa dk o.kZu djsaA     ¼6½ 

 What is meant by Packaging? Explain any 4 functions of Packaging.  

 



 


